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QUESTION 1

What does the whitelist attribute value "not evaluated" indicate? 

A. The host is not a target of the whitelist. 

B. The host could not be evaluated because no profile exists for it. 

C. The whitelist status could not be updated because the correlation policy it belongs to is not enabled. 

D. The host is not on a monitored network segment. 

Correct Answer: A 

 

QUESTION 2

Which statement is true in regard to the Sourcefire Security Intelligence lists? 

A. The global blacklist universally allows all traffic through the managed device. 

B. The global whitelist cannot be edited. 

C. IP addresses can be added to the global blacklist by clicking on interactive graphs in Context Explorer. 

D. The Security Intelligence lists cannot be updated. 

Correct Answer: C 

 

QUESTION 3

Alert priority is established in which way? 

A. event classification 

B. priority.conf file 

C. host criticality selection 

D. through Context Explorer 

Correct Answer: A 

 

QUESTION 4

Which option is not a characteristic of dashboard widgets or Context Explorer? 

A. Context Explorer is a tool used primarily by analysts looking for trends across varying periods of time. 

B. Context Explorer can be added as a widget to a dashboard. 
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C. Widgets offer users an at-a-glance view of their environment. 

D. Widgets are offered to all users, whereas Context Explorer is limited to a few roles. 

Correct Answer: B 

 

QUESTION 5

What does packet latency thresholding measure? 

A. the total elapsed time it takes to process a packet 

B. the amount of time it takes for a rule to process 

C. the amount of time it takes to process an event 

D. the time span between a triggered event and when the packet is dropped 

Correct Answer: A 
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